


























A F 0 P »

MULTI - MOUNTING

PLEASE READ THE MAIN INSTRUCTIONS BEFORE COMMENCING,
THEN REFER TO THIS SUPPLEMENT.

SLIDE THE TELESCOPIC BOX SECTION TO THE DESIRED POSITION (Y -Y)

ADJUST THE FRONT CARRIER HEIGHT TO SUIT THE APPLICATION (X —X)

ADJUST THE REAR CARRIER HEIGHT TO SUIT THE APPLICATION (X -X)

THE SIDE TABS ARE DESIGNED TO FIT MOST BIKES BUT CAN BE REMOVED IF REQUIRED.

REFERENCE TO MAIN LIFTING ARM.




1800 Gold Wing 10

With the lift facing you and the pillar farthest away locate the front beam ‘A’ as
shown below 80mm from the end of the lifting arm ‘E’

Locate the rear mounting ‘C’ as shown 45mm from the end of arm ‘E’ and tighten
both ‘U’ bolts ‘D’ and M8 bolts ‘B’ to 18 Ib ft.

With the bike on its side-stand leaning away from you push the lift into and
underneath the bike from the R/H or opposite side.

. Now position the rear mounting directly forward of the centre stand and under the

machined flat section of the gearbox Avoiding the trim or any other obstacles.
The front mounting will now be in the correct position. Ensure the crankcase
centre joint locates into the aperture on the front mounting and proceed to turn

the screw-shaft clockwise by hand until the mountings contact the underside of the
bike.

At this point take the handle-bars with your other hand and assist the bike as it tries to
stand upright. Now continue turning until the bike is vertical, then give a final check
that the mountings are in the correct position and if all is OK continue to raise to the
desired height. Tie down with ratchet straps or similar if required.

Always refer to main instructions.

e ¢ UBOLT D

g L
Qc)—Q@ l pnn ﬂan

7§ 1T

{ S

Assembly detail showing U-Bolts D




Triumph Rocket 3 Mounts 11

Please read the main instructions before commencing then follow steps shown below.
For lifting you will require assistance, paddock stand or Eazy Rizer’s companion the Bike Grab.

8

2.

F

¢ .
L)
\i

B

Q .

p ;
1

Stand the bike in the vertical position and move the lift to your preferred side
aligning the lifting arm under the engine area and in line with the wheels.

Place the front mounting Fig 2 exactly 25mm from the end of the lifting arm and
secure the ‘U’ bolt Fig 1.

Fit the rear beam to the lifting arm 105mm from the end as shown and secure ‘U’
bolt Fig 1.

Fit the vertical lifting bracket Fig 5 at 57mm from the end of the beam as shown
in the drawing and secure.

Push the lift inwards until the spigot locates fully into the lifting point of the
frame directly below the transmission casing.

Now assemble the bracket on the opposite side locating it in the frame lifting
point as before pushing it firmly up against the frame and secure the coach bolt
nuts. (check all positioning and fixings for a second time)

When satisfied that the setup is correct you can proceed to lift the bike.

For front or rear wheel removal ensure that the engine/transmission is secured to
the lift with tie down straps for added safety.

or any other information refer to main instructions or contact the manufactures — distributor.

o E Mm"ﬂ’ '»@

o

25 - @’/ ® |
-
° s

~12 DIA. WELDED
STUDS

j*“




12
DUCATI FITMENT

PLEASE READ THE MAIN INSTRUCTIONS BEFORE COMMENCING,
THEN FOLLOW STEPS SHOWN IN THE DIAGRAM BELOW.

1. POSITION THE FRONT MOUNTING (B) IN THE AREA (A) BETWEEN THE EXHAUST MANIFOLD AND
CRANKCASE.

2. POSITION THE REAR MOUNTING (H) UNDER THE GEARBOX AND FULLY LOCATE THE M8 TAPER PIN
INTO THE RIGHT HAND CASING HOLE (G).

3. ADIJUST THE MOUNTINGS TO THE DESIRED HEIGHT TO SUIT YOUR MACHINE AND FIRMLY TIGHTEN
THE FOUR M8 BOLTS AT ADJUSTER SLOTS.

NOTE THE SIDE STAND ‘C” CLAMP FOR THE DUCATI HAS TWO FIGURE OF ‘8> HOLES ALLOWING EXTRA
INWARD TRAVEL TO COVER THE UNUSUALLY SMALL STAND FOOT POSITION THIS FULLY IN THE
CAPTURE PLATE AND ALWAYS USE THE ‘U” BOLT FOR ADDED SECURITY.




13
VALKYRIE MOUNTING

PLEASE READ THE MAIN INSTRUCTIONS BEFORE COMMENCING,
THEN REFER TO THIS SUPPLEMENT.

This mounting has been designed specifically for use with the Valkyrie and must be used in conjunction with
the Beam Mounting kit.

With the bike in it’s resting position on the side stand take the mounting and position it under the frame rail
situated between the swing arm and rear of the gearbox casing.

The mounting is sized to fit between the stand bracket casting and the R/H frame rail.
With this in position place the “U” bolt over the frame then through the plate, now secure the two M8 wing nuts
provided, (this becomes part of the bike for lifting yet can be removed at will).

Take the EAZYRIZER lift complete with the two Beam Mountings (slots facing inward) and securely lock
them near to the ends or the main lifting arm, now slide the lift under the bike from the R/H side aligning the

rear beam under the mounting previously secured to the bike frame.

At this stage holding the bike vertical, turn the screw shaft manually in a clockwise direction to raise the lift and
support the bike while you secure the two lower M8 bolts (mounting plate to beam assembly).

See diagram below for reference.

http://www.bikelift.com



T RIUMPH TH ORI ER BV RD

600 » V100 .

R ate

W ON:

—>
: \
-9

wag AT

=

I =p3

AN AN



